et

1 AN
1. LEA4
THE4 R 6 — 7 BAHE)IFE2 5 T gL T.5
TEH 4 & LT A TR AS A MY SR AR L [ A A (SR AE)
2. TENE

1) EB4

n

HEEIEBHT T % iR

WOBS - MY &S TH
526 H il B AF 64E 621 H
ES) SFn TH11H28H

2) E T M
3) L
4) THEHEE

i@ Aokt 5w m




PR NERE

T4 | R6— 7 2%)IFE2E TIRWHIEE THE

THXSy « TfE - FER A B & & B # ] ) 7
OB HE R = 1 82, 535, 595
avy)-MESE T 2V 1 61, 731, 461
LT 2V 1 1,054,625 |FHEY 1 =K
=2 £
HWREL 1 =
FEmEE 1 2V
2y - MESEARER T Y 1 54, 933, 336 |2/))-} 954 m3
18-5-80BB W/C=60% ;
R pke 400 m2
— IR
T 160 m2
{EpERIAE
THEMERGER B 148 m2
ettt
FTHEE e 52 m2
2% 1 K
KNI T 2V 1 5, 743,500 |2v7)=} 273 m3
18-5-80BB W/C=60% ;
T 1 =K
— R
FEE YR T 2V 1 584, 428
HEEE L T Y 1 442, 000 |27 -MEiEMEUE L 26 m3
AR IEY) BEhUE L
TE R ALER T = 1 142, 428 | BEH 1 =
) -hik (5
LSy 26 m3
a9 -hik (&5
R T Y 1 10, 015, 905

-1 - ESR o3 E < o] 3 ok S




B N ERE

T4 | R6— 7 2%)IFE2E TIRWHIEE THE

THX 4y - TfE - fli5) W % & & H mooa P B
B L = 1 117,000 |Z&HABh# 1 =
7 T VIR
B B E A T Y 1 4,971, 440 | iEHisHEfH 1 =
g ilvEs 1 K
2y - MLER R T Y 1 3,618, 852 | iEiis S 1 =
g ilvES 1 K
Y 7K AL R i T = 1 963, 273 | JEHIELVESH 1 =
£ il 1 =K
B KPR 1 K
Bt sk 1. 2V 1 345,340 | & Hiph# 1 =
In=3)1—-/50t s ;
T Y 1 10, 203, 801
RS T = 1 10,203, 801 | & iEEE (HRA) 1 =
B ERE R 1 K
EETEY =X 1 82, 535, 595
IR = 1 82, 804, 511
S IEE ¢ = 1 74, 098, 511
SGIEIE ¢ = 1 42,529,071 |HEMIEME (IR 1 =
FRA~BAH
BEAr SRR () 1 =K
BH~FRHA ;
EEA I ER 1 K
7t e =X 1 6, 655, 340 | -3 ik A 1 =«
BEFRE 1 K
1wt =X 1 856, 000 | 7B AR 4 1 =K
Hefti e = 1 530, 400 |a7)—pEALAK BRI E R IC & B B 24 [a]
W/C3-%
G 2V 1 22,714,700 |ERE% (EH) 1 2V
55 15 8 i ik 2y 1 =X

-2 - ESR o3 E < o] 3 ok S




B N ERE

T4 | R6— 7 2%)IFE2E TIRWHIEE THE

THEXS - T - FER B ¥ & & Hm a1l W 3

EFE LB 1 2V

WELE 1 ot
Bl REUER (FE L) Y 1 813, 000
Il (it L) Y 1 8, 706, 000
il TR Y 1 165, 340, 106
Bl 2V 1 37, 248, 000
T =5 Y 1 202, 588, 106
— R B 2V 1 28, 151, 894
T =AM Y 1 230, 740, 000

-3 - ESR o3 E < o] 3 ok S




